

Observations on Two Special Hyperbolic Paraboloids

S.Vidhyalakshmi¹, M.A.Gopalan², S. Aarth Thangam^{3*}

^{1,2}Professor, Department of Mathematics,

Shrimati Indira Gandhi College, Trichy-620 002, Tamil Nadu, India

^{3*}Research Scholar, Department of Mathematics,

Shrimati Indira Gandhi College, Trichy-620 002, Tamil Nadu, India

Abstract: Knowing a solution of ternary quadratic diophantine equation representing hyperbolic paraboloid, a general formula for generating sequence of solutions based on the given solution is illustrated.

KEYWORDS: Ternary quadratic, generation of solutions, hyperbolic paraboloid

I. INTRODUCTION

The subject of diophantine equations in number theory has attracted many mathematicians since antiquity. It is well-known that a diophantine equation is a polynomial equation in two or more unknowns with integer coefficients for which integer solutions are required. An integer solution is a solution such that all the unknowns in the equation take integer values. An extension of ordinary integers into complex numbers is the gaussian integers. A gaussian integer is a complex number whose real and imaginary parts are both integers. It is quite obvious that diophantine equations are rich in variety and there are methods available to obtain solutions either in real integers or in gaussian integers.

A natural question that arises now is, whether a general formula for generating sequence of solutions based on the given solution can be obtained? In this context, one may refer [1-7]. The main thrust of this communication is to show that the answer to the above question is affirmative in the case of the following ternary quadratic diophantine equations, each representing a hyperbolic paraboloid.

II. METHOD OF ANALYSIS

Hyperbolic Paraboloid: 1

Consider the hyperbolic paraboloid given by

$$(a+1)x^2 - ay^2 = 2z \quad (1)$$

Introduction of the linear transformations

$$x = X \pm aT, \quad y = X \pm (a+1)T \quad (2)$$

leads to

$$X^2 = (a^2 + a)T^2 + 2z$$

which is satisfied by

$$T = 4k, \quad z = 2k^2 \Rightarrow X = 2k(2a+1)$$

In view of (2), we have

$$x = 8ka + 2k, 2k \text{ and } y = 8ka + 6k, -2k \quad (3)$$

Denote the above values of x, y, z as x_0, y_0, z_0 respectively. We illustrate a process of obtaining sequence of integer solutions to the given equation based on its given solution (3).

Let (x_1, y_1, z_1) be the second solution of (1), where

$$x_1 = h - x_0, \quad y_1 = y_0 + h, \quad z_1 = z_0 + h \quad (4)$$

in which h is an unknown to be determined.

Substitution of (4) in (1) gives

$$h = 2(a+1)x_0 + 2ay_0 + 2 \quad (5)$$

Using (5) in (4), the second solution (x_1, y_1, z_1) of (1) is expressed in the matrix form as

$$(x_1, y_1, z_1)^t = M(x_0, y_0, z_0)^t$$

where t is the transpose and

$$M = \begin{pmatrix} 2a+1 & 2a & 0 & 2 \\ 2a+2 & 2a+1 & 0 & 2 \\ 2a+2 & 2a & 1 & 2 \\ 0 & 0 & 0 & 1 \end{pmatrix}$$

The repetition of the above process leads to the general solution $(x_{n+1}, y_{n+1}, z_{n+1})$ of (1) written in the matrix form as

$$\begin{pmatrix} x_{n+1} \\ y_{n+1} \\ z_{n+1} \\ 1 \end{pmatrix} = \begin{pmatrix} Y_n & aX_n & 0 & X_n \\ (a+1)X_n & Y_n & 0 & \frac{Y_n-1}{a} \\ (a+1)X_n & Y_n-1 & 1 & \frac{Y_n-1}{a} \\ 0 & 0 & 0 & 1 \end{pmatrix} \begin{pmatrix} x_0 \\ y_0 \\ z_0 \\ 1 \end{pmatrix}, n=0,1,2,\dots$$

where (X_n, Y_n) is the general solution of the Pellian equation $Y^2 = (a^2 + a)X^2 + 1$

It is worth mentioning here that it is possible to obtain a different generation formula for the above equation as shown below:

Consider the transformation

$$x_1 = x_0 + h_0, y_1 = y_0 + h_0, z_1 = z_0 + h_0^2 \tag{6}$$

Substituting (6) in (1) and simplifying, we get

$$h_0 = 2(a+1)x_0 - 2ay_0$$

Substituting the value of h_0 in (6), we have

$$x_1 = (2a+3)x_0 - 2ay_0, y_1 = (2a+2)x_0 - (2a-1)y_0, z_1 = z_0 + ((2a+2)x_0 - 2ay_0)^2$$

Repeating the above process, the generation formula for (1) is represented by

$$\begin{aligned} x_n &= (3^n(a+1) - a)x_0 + a(1 - 3^n)y_0 \\ y_n &= (3^n - 1)(a+1)x_0 + (a+1 - 3^n a)y_0 \\ z_n &= z_0 + \frac{(9^n - 1)}{8} [(2a+2)x_0 - 2ay_0]^2 \end{aligned}$$

Illustration:

Taking $a = 2$, the generation formulae for the equation $3x^2 - 2y^2 = 2z$ are given by

$$\begin{aligned} x_{n+1} &= Y_n x_0 + 2X_n y_0 + X_n & x_n &= (3(3^n) - 2)x_0 + 2(1 - 3^n)y_0 \\ y_{n+1} &= 3X_n x_0 + Y_n y_0 + \frac{Y_n - 1}{2} & \text{and } y_n &= 3(3^n - 1)x_0 + (3 - 2(3^n))y_0 \\ z_{n+1} &= 3X_n x_0 + (Y_n - 1)y_0 + z_0 + \frac{Y_n - 1}{2} & z_n &= z_0 + \frac{(9^n - 1)}{8} [6x_0 - 4y_0]^2 \end{aligned}$$

Hyperbolic Paraboloid: 2

Consider the hyperbolic paraboloid given by

$$(a+2)x^2 - ay^2 = 2z \tag{1}$$

Introduction of the linear transformations

$$x = X \pm aT, y = X \pm (a+2)T \tag{2}$$

leads to

$$X^2 = (a^2 + 2a)T^2 + z$$

which is satisfied by

$$T = k, z = k^2 \Rightarrow X = k(a+1)$$

In view of (2), we have

$$x = k(2a+1), k \text{ and } y = (2a+3)k, -k \tag{3}$$

Denote the above values of x, y, z as x_0, y_0, z_0 respectively. We illustrate a process of obtaining sequence of integer solutions to the given equation based on its given solution (3).

Let (x_1, y_1, z_1) be the second solution of (1), where

$$x_1 = h - x_0, y_1 = y_0 + h, z_1 = z_0 + h \tag{4}$$

in which h is an unknown to be determined.

Substitution of (4) in (1) gives

$$h = (a + 2)x_0 + ay_0 + 1 \tag{5}$$

Using (5) in (4), the second solution (x_1, y_1, z_1) of (1) is expressed in the matrix form as

$$(x_1, y_1, z_1)^t = M(x_0, y_0, z_0)^t$$

where t is the transpose and

$$M = \begin{pmatrix} a+1 & a & 0 & 1 \\ a+2 & a+1 & 0 & 1 \\ a+2 & a & 1 & 1 \\ 0 & 0 & 0 & 1 \end{pmatrix}$$

The repetition of the above process leads to the general solution $(x_{n+1}, y_{n+1}, z_{n+1})$ of (1) written in the matrix form as

$$\begin{pmatrix} x_{n+1} \\ y_{n+1} \\ z_{n+1} \\ 1 \end{pmatrix} = \begin{pmatrix} Y_n & aX_n & 0 & X_n \\ (a+2)X_n & Y_n & 0 & \frac{Y_n-1}{a} \\ (a+2)X_n & Y_n-1 & 1 & \frac{Y_n-1}{a} \\ 0 & 0 & 0 & 1 \end{pmatrix} \begin{pmatrix} x_0 \\ y_0 \\ z_0 \\ 1 \end{pmatrix}, n=0,1,2,\dots$$

where (X_n, Y_n) is the general solution of the Pellian equation $Y^2 = (a^2 + 2a)X^2 + 1$

It is worth mentioning here that it is possible to obtain a different generation formula for the above equation as shown below:

Consider the transformation

$$x_1 = x_0 + h_0, y_1 = y_0 + h_0, z_1 = z_0 + 2h_0^2 \tag{6}$$

Substituting (6) in (1) and simplifying, we get

$$h_0 = (a + 2)x_0 - ay_0$$

Substituting the value of h_0 in (6), we have

$$x_1 = (a + 3)x_0 - ay_0, y_1 = (a + 2)x_0 - (a - 1)y_0, z_1 = z_0 + 2((a + 2)x_0 - ay_0)^2$$

Repeating the above process, the generation formula for (1) is represented by

$$\begin{aligned} x_n &= \frac{1}{2} [(3^n(a+2) - a)x_0 + a(1 - 3^n)y_0] \\ y_n &= \frac{1}{2} [(3^n - 1)(a+2)x_0 + (a+2 - (3^n)a)y_0] \\ z_n &= z_0 + \frac{(9^n - 1)}{4} [(a+2)x_0 - ay_0]^2 \end{aligned}$$

Illustration:

Taking $a = 3$, the generation formulae for the equation $5x^2 - 3y^2 = 2z$ are given by

$$\begin{aligned} x_{n+1} &= Y_n x_0 + 3X_n y_0 + X_n & x_n &= \frac{1}{2} [(5(3^n) - 3)x_0 + 3(1 - 3^n)y_0] \\ y_{n+1} &= 5X_n x_0 + Y_n y_0 + \frac{Y_n - 1}{3} & \text{and } y_n &= \frac{1}{2} [5(3^n - 1)x_0 + (5 - 3(3^n))y_0] \\ z_{n+1} &= 5X_n x_0 + (Y_n - 1)y_0 + z_0 + \frac{Y_n - 1}{3} & z_n &= z_0 + \frac{(9^n - 1)}{4} [5x_0 - 3y_0]^2 \end{aligned}$$

Note: Observe that the general formula for the generation of solutions is not unique.

To conclude, one may attempt for obtaining generation formula for other choices of hyperbolic paraboloid

REFERENCES

- [1] M.A. Gopalan, S. Vidhyalakshmi, N. Thiruniraiselvi, Observations on $x^2 + y^2 = 17z^2$, *Diophantus J.Math*, 1(2), 2012, 77-83.
- [2] S. Divya, M.A. Gopalan, S. Vidhyalakshmi, Lattice points on the homogeneous cone $x^2 + y^2 = 40z^2$, *The Experiment*, 17(3), 2013, 1191-1199.
- [3] M.A. Gopalan, S. Vidhyalakshmi, E. Premalatha, On the homogeneous quadratic equation with 3 unknowns $x^2 - xy + y^2 = (k^2 + 3)z^2$, *Bull.Math.of Stat. Res.*, 1(1), 2013, 38-41.
- [4] Gopalan et al, Integer points on the homogeneous cone $2x^2 + 3y^2 = 35z^2$, *Indian journal of Science*, 7(17), 2014, 6-10.
- [5] K. Geetha, Manju Somnath, M.A. Gopalan, A ternary quadratic diophantine equation $x^2 + y^2 = 10z^2$, *IJETER*, 4(1), Jan 2016, 96-99.
- [6] V. Geetha, M.A. Gopalan, Observations on $x^2 + y^2 = 2(k^2 + 1)z^2$, *Transactions on Mathematics*, 2(3), July 2016, 37-43.
- [7] M.A. Gopalan, S. Vidhyalakshmi, Presenna Ramanand, Generation formula for solutions to ternary quadratic diophantine equation, *International Journal of Advanced Research and Development*, 3(3), May 2018, 78-79.